Quiz: Prerequisite Skills Quiz 1a



Name: ________________________
1. Write down the equation for the following graph in slope-intercept form (y = mx+ b): ________________
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2. How many significant figures does each of the following numbers have?
a) 200. ______
b) 0.010 _______

c) 2010 ______

d) 101_______
3. Calculate showing appropriate number of sig figs and units:
a) 4.5 x105 m ÷ 3.00x108 m/s
___________ 

b) 1.200 kg + 15.0 kg - 3.20 kg
___________
KEY

4. Write down the equation for the following graph in slope-intercept form (y = mx+ b): y = 3x + 2
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5. How many significant figures does each of the following numbers have?
a) 200. ___3___
b) 0.010 
____2___

c) 2010 ___3___

d) 101___3____
6. Calculate showing appropriate number of sig figs and units:
c) 4.5 x105 m ÷ 3.00x108 m/s
1.5 x 103 s 

d) 1.200 kg + 15.0 kg - 3.20 kg
13.0 kg
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